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Il 2,100
== 630
Al 270
OlOIZ 20| A& B &l K& 11,130 11,400 A270
= 3,339
Al 7,791
307 el2to| & 11,130 11,400 270
= 3,339
Al 7,791
11 AMISXAIEEX 11,130 11,400 A270
OO0I0I==201 AZH&H| K& 11,130
== 3,339
Al 7,791
ot ety E=3+E N 50,400 45,000 5,400
= 15,120
Al 35,280
307 elztol & 50,400 45,000 5,400
= 15,120
Al 35,280
1 AMISXAIEEXS 50,400 45,000 5,400
080ty ote =5+ XIE 50,400
=S 156,120
Al 35,280
HA0HE L OERFPOHE KZHEH 2 (A20tE) 621,270 379,140 242,130
Jl 260,935
=S 78,280
Al 282,055
307 @I2t01 & 621,270 379,140 242,130
Jl 260,935
= 78,280
Al 282,085
1 AMEISXAIEEX 621,270 379,140 242,130
OABINIX MY =29 621,270
Il 260,935
= 78,280
Al 282,055
AN NEHE SALA SX+& 19,800 20,520 AT
=S 5,940




2A:

X XH -
o=

Bl

= FH XA

ol S 33 X3 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

Al 13,860

301 LPBNF 19,800 0 19,800
T 5,940
Al 13,860

02 ANSIBEEHS(FHLHS, NYME) 19,800 0 19,800
OHLIIEXSHE SAX X 19,800
= 5,940
Al 13,860

1010172 = oA EEXIZ0] 24,600 19,000 5,600
& 7,380
Al 17,220

301 LPENZ 24,600 19,000 5,600
& 7,380
Al 17,220

02 AISIBEESHS(HLHS, NSME) 24,600 19,000 5,600
O1210t7 =4 ot& &=X1~Z20| 24,600
& 7,380
Al 17,220

252 0tLU=sH 29 324,956 232,696 R,260
| 155,958
T 66,296
Al 102,702

301 LB F 13,040 0 13,040
= 3,912
Al 9,128

2 A BEHHZ(HAANS, NYHA) 13,040 0 13,040
O=S0tLisH SAHR =8 13,040
& 3,912
Al 9,128

307 212+01™ 311,916 232,696 79,220
J| 155,958
= 62,384
Al 93,574

11 AR SXAMEES 311,916 232,696 79,220
O3SS0tLisH 29 311,916
| 155,958
= 62,384
Al 93,574

228t Ot 24 2Rus I# 16,000 25,000 A9,000
& 4,800
Al 11,200

307 212+01™ 16,000 25,000 A9,000
& 4,800




AT HEIED
B Jbm F K|
celr O 38 NE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 11,200
11 AMEISXAEEXS 16,000 25,000 29,000
O2ZE JHE 24 R2us X 16,000
s 4,800
Al 11,200
HFAl 228t 2 63,500 65,000 21,500
201 el 13,500 15,000 1,500
01 At22t2lt] 13,500 15,000 21,500
OR=2stu B2 & 2% 10,500
ORZ U= & A2t 2E3 3,000
301 EtE2 NS 50,000 50,000
4Bt 2a3 50,000 50,000
ORZstn ZA= 50,000
H=es elle!l 2 AMHIA XIE 2,000 2,000 0
201 =3 2,000 2,000
02 35244l 2,000 2,000
O™¥=es el 28 AHIA XIH 2,000
CtE3tAtel I 3,420,200 2,581,339 838,861
Il 1,395,472
= 532,248
Al 1,492,480
Ct=3tatel X1 3,420,200 2,581,339 838,861
) 1,395,472
< 532,248
Al 1,492,480
CrEshtEXdE 2SR 922,230 392,140 530,090
Il 434,615
== 130,383
Al 367,232
307 212+01& 922,230 392,140 530,090
7l 434,615
= 130,383
Al 357,232
11 AMISXAIEEX 922,230 392,140 530,090
OU2=IEXAHE 28X 922,230
Jl 434,615
= 130,383
Al 367,232
CHESIEXIZHE SARIE X2 33,066 32,19 867
== 9,920
Al 23,146
307 212+01& 33,066 32,19 867




A HEIED
H: CI25HME X2
tel: CEstAtel A1 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 9,920
Al 23,146
10 Al SXAEEHE2EHI2x 33,066 32,19 867
OLUIZ3IEXNEME SAIE X 33,066
= 9,920
Al 23,146
CHE3IE X2 HE SALAE =& 162,590 127,720 24,870
=S 22,737
Al 129,853
301 EtE NS 50,190 0 50,190
< 15,057
Al 35,133
02 A2 EH LGS (FHAAHS, NLWE) 50,190 0 50,190
OCUIZ3IEX2HE SAHL =& 50,190
= 15,057
Al 35,133
307 elzto| & 102,400 127,720 N25,320
= 7,680
Al 94,720
10 AlRISXAZEE 22X 102,400 127,720 N25,320
OUZSINEXNEHE SAA =& 102,400
== 7,680
Al 9,720
CIESIEXIZEH HE HEs 30,000 0 30,000
401 Al HIZL 201 30,000 30,000
01 Al&H| 30,000 30,000
OUIZ3IEN2MH A= M2+ 30,000
MHgE & MHYE S gE2usAHlA X2 360,859 333,455 27,404
) 170,229
< 51,0689
Al 139,561
307 glztol & 360,859 333,455 27,404
Jl 170,229
== 51,069
Al 139,561
11 AMEISXAEEES 360,859 333,455 27,404
OIS & NHYE S Y2 uSAHIA
A& 360,859
Il 170,229
== 51,069
Al 139,561
CtEshts & - HIAMHIA X3 136,400 98,439 37,961
Il 68,200




SN OIEIIET
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 20,460
Al 47,740
307 lztol & 136,400 98,439 37,961
Jl 68,200
== 20,460
Al 47,740
11 AMEISXAEEES 136,400 98,439 37,961
OZ =012k S - HAMHIA X 136,400
Jl 68,200
=S 20,460
Al 47,740
CHESIE o X 162,360 118,032 44,328
Jl 81,180
=S 24,354
Al 56,826
307 @I2to| & 162,360 118,032 44,328
Jl 81,180
= 24,354
Al 56,826
1 AMISXAIEEXS 162,360 118,032 44,328
ottzZshts Ao X 162,360
Il 81,180
= 24,354
Al 56,826
Olsa0l t=etd x4 182,400 138,108 44,292
Jl 91,200
= 27,360
Al 63,840
307 elztol & 182,400 138,108 44,292
Il 91,200
< 27,360
Al 63,840
11 AMEISXAEEE 182,400 138,108 44,292
OolIs20l It=sad &4 182,400
Jl 91,200
== 27,360
Al 63,840
ZE0I1UA SEHEN2 24,500 24,500 0
Il 12,250
== 3,675
Al 8,575
307 212+01& 24,500 24,500 0
Il 12,250




SN OIEIIET
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,675
Al 8,575
11 AMEISXAEEES 24,500 24,500 0
OZ =012kt AL 24,500
Jl 12,250
< 3,675
Al 8,575
CH23tE DEHLS0l 51,450 98,000 N46,550
= 15,435
Al 36,015
307 elztol & 51,450 98,000 N\46,550
= 15,435
Al 36,015
1 AMISXAIEEXS 51,450 98,000 A46,550
Ot2=tE NeEiL=0l 51,450
s 15,435
Al 36,015
=2E Ot=stg =29 146,835 147,225 A390
& 51,392
Al 95,443
307 lztol & 146,835 147,225 A390
= 51,392
Al 95,443
1 AMEISXAEEXS 146,835 147,225 A390
OZ2z¥ Ui=8tg 24 146,835
= 51,392
Al 95,443
ZE012X = HFSE X2 35,500 56,000 220,500
[ 14,200
Al 21,300
307 elztol & 35,500 56,000 /20,500
= 14,200
Al 21,300
11 AMEISXAIEEE 35,500 56,000 A20,500
OZE0I2AF s=5FSE X2 35,500
= 14,200
Al 21,300
ZE0IRA e &l X 5,000 22,000 217,000
== 2,000
Al 3,000
307 212+01& 5,000 22,000 A17,000
[ 2,000
Al 3,000




A HEIED
H: CI25HME X2
tel: CEstAtel A1 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 5,000 22,000 A17,000
OZ&0I2IX}+ hst stH| X1 5,000
= 2,000
Al 3,000
ZE012UN =HFS ws NE 10,000 20,000 10,000
307 @120l & 10,000 20,000 10,000
02 QB HANEEX 10,000 20,000 10,000
OZ=012UK =58FHS u=s A 10,000
ZE012N S =HFASHIE NE A 18,000 0 18,000
< 5,400
Al 12,600
307 lztol & 18,000 0 18,000
= 5,400
Al 12,600
11 AMEISXAIEEXS 18,000 0 18,000
OZE012A S =HASHIS NE At 18,000
= 5,400
Al 12,600
ChEebIEEM 2= dE8XE 14,000 14,000
307 @I2t01 & 14,000 14,000
02 LB AAHEE 14,000 14,000
OFF [I23RAE IBETDA L W
HE A 4,000
OO0I=BiZ =2l O[HHA UASFAHM L
2l 10,000
Ol=FtiE&EAE XA AHAY 227,100 0 227,100
Il 159,000
= 20,430
Al 47,670
307 elztol & 227,100 0 227,100
) 159,000
< 20,430
Al 47,670
11 AMEISXAEEE 227,100 0 227,100
OO0I=HZEAHE XATE HAAY 227,100
Jl 159,000
< 20,430
Al 47,670
Zote HHEE 90 === M 10,000 13,000 23,000
201 er23 | 10,000 10,000 0
03 Ar=EHI 10,000 10,000 0
O=22to g8z g0 LhEasa N 10,000
Ct=3t 012! S2dAdH 29 148,739 137,026 1,713




SN OIEIIET
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 32,622
Al 116,117
307 lztol & 148,739 137,026 1,713
= 32,622
Al 116,117
11 AMEISXAIEEXS 148,739 137,026 11,713
OCi=23t 0l=2 EAdH =29 108,739
= 32,622
Al 76,117
og=e22Rt & 29 40,000
=0l gL 29 15,000 15,000 0
S 4,500
Al 10,500
307 elztol & 15,000 15,000 0
= 4,500
Al 10,500
1 AMEISXAEEXS 15,000 15,000 0
O2=0 L 2 15,000
= 4,500
Al 10,500
Z31ol OlF0d EsAlE 2g8XE 292,798 283,239 9,559
7l 185,770
= 30,912
Al 76,116
307 @120l & 292,798 283,239 9,559
Il 185,770
= 30,912
Al 76,116
11 AMEISXAIEEXS 292,798 283,239 9,559
O=41lch 0I1F0d 2ESAIE 2EAE 292,798
Jl 185,770
= 30,912
Al 76,116
ZH1lol OIF0E ESAE SAA =E 14,160 12,280 1,880
= 4,248
Al 9,912
301 EtE NS 9,360 0 9,360
s 2,808
Al 6,552
02 ANRI2HHSHS(HAAS, NLHE) 9,360 0 9,360
ZA0loH 0IF0E ESAIE SAHA =E 9,360
[ 2,808
Al 6,552




A HEIED
H: CI25HME X2
tel: CEstAtel A1 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 4,800 12,280 AT,480
= 1,440
Al 3,360
10 Al SXAAEEHE2EHI2x 4,800 12,280 AT,480
O=IldH OIF0HE 2ESAIE SAAF =5 4,800
= 1,440
Al 3,360
ZS0Ioh OIFHE 2sAl4 ElAX XHEXIE 15,000 10,000 5,000
Jl 15,000
307 elzto| & 15,000 10,000 5,000
) 15,000
11 AMEISXAEEES 15,000 10,000 5,000
O=Hllol OIF0d E3AlE E4X THE
A& 15,000
Jl 15,000
ZdMlol 0IF0E ESAE HEE2d 11,183 6,222 4,961
Jl 7,828
=S 1,118
Al 2,237
402 2I2FXH=201H 11,183 6,222 4,961
Jl 7,828
= 1,118
Al 2,237
02 QI XHE AL E R (01X THE) 11,183 6,222 4,961
OZFHUloh O1F0d ESAlE tHEH 11,183
Il 7,828
= 1,118
Al 2,237
ZHUlol 0lF0d & 28XE 362,030 329,608 22,422
Il 170,200
= 54,549
Al 127,281
307 el2tol & 362,030 329,608 22,422
) 170,200
< 54,549
Al 127,281
11 AMEISXAEEES 352,030 329,608 22,422
O=ZUlol 0lF0d g4 2 362,030
Jl 170,200
< 54,549
Al 127,281
ZE 0ol 0lF0ld &8 SAL = 49,000 49,360 A360
= 5,484




SN OIEIIET
2 U2=tAtel X3
=2 Oh23tAtel X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 43,516
301 EtE NS 11,880 0 11,880
=S 3,564
Al 8,316
02 ARSI SE AT S(FIANS, XLETHE) 11,880 0 11,880
O=ZUlol 0IF0d 454 SAL =& 11,880
< 3,564
Al 8,316
307 glztol & 37,120 49,360 N12,240
= 1,920
Al 35,200
10 Al SAAEEHE 22X 37,120 49,360 A12,240
O=g1lcl 01F0d &54 SAHL =& 37,120
= 1,920
Al 35,200
HY2EIHI(HEIEM) 42,643 44,704 2,061
Jl23HI(0EIot=Em) 42,643 44,704 22,061
J=ZHI(KEIH=ED) 42,643 44,704 22,061
201 Ler23| 27,547 29,608 22,061
01 At2teltl 25,547 27,608 2,061
Odgt+==H| 10,080
ozg=g 7,000
O= gl 8,467
02 S5=24g4l 2,000 2,000 0
O=EXE FAl2cil 2,000
202 04l 12,096 12,09
01 =LHAHI 12,096 12,096
OJl2g =0 12,096
203 =4l 3,000 3,000
04 PAE2EERFAH 3,000 3,000
ORMEIE = 250,000 * 122 3,000




